()  Subtract 21°31' from 30°.
(i) Calculate the value of x in the diagram.
56° x°
3y’
(i) Calculate the value of y in the diagram. 2’ 4°
(iv) Construct a triangle with sides of lengths 7 cm, 6 cm and 5 cm.
Using a protractor, measure the number of degrees in each of the three angles of the triangle.
(V) Inthe triangle abe, | Zabc|=90° | ab |=5cm 1
and| be | =12 em.
Calculate | acl . 12 cm
a =] b
Scm
(vi) pgrs is a rectangle. ; P t s
| gr | =6 cm and the area of triangle tgr E
is 15 cm? '
1
L}
Find | pg |. :
q ' r
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(vii) The centre of the circle is ¢,

Ty

™ *Calculate the value offand the value of .

(viil) Under the central symmetry in o, the image b a
of the parallelogram abdo is zoxy.

Name the image of the triangle abd under
the central symmetry in o. d

(ix) Find the distance between the points
(-1,3) and (2, 7).

[Distance formula; ,/ (e ~x) + (3, ~ ). ]

0‘ jZ
x y
(®  Use the diagram to write down, as fractions, the value of
sin 4 and the value of tan 4. 29 20
A | _
21

(@) Divide IR£270 in the ratio 4 : 5,

() On the first day of term 550 students were asked how they had travelled to school that day.
It was found that 45% had cycled, 25% had travelled by bus, 10% had travelled by car and the
remainder had walked.
Calculate the number of students who walked to school that day.

(®) A piece of cardboard is in the shape of a square with side of length 20 cm.
Calculate its area.

20 cm

Two semi-circular pieces, each with diameter of
length 20 cm, are cut from the piece of cardboard
as shown in the diagram.

20cm

Taking 7 = 3.14, calculate

@) the area of the two pieces which are cut out
(ii) the percentage of the area of the square that remains.



3.  twxyand fxzy are two parallelograms.

t Y
|xz| =6cm.
(i) Copy the diagram and draw a line segment to 6
: . cm
represent the perpendicular distance of y from .

[xz].

(i) Name two line segments each of which is the same length as [y¢].

(iii) Name two angles each of which has the same measure as Zxzy.

(iv) Name the image of the triangle yxz under the translation 3); :
(v)  Given that the area of the figure twzy is 36 cm’, find the area of triangle yxz.

(vi) Taking [xz] as the base, calculate the perpendicular height of triangle yxz.

4. [ab]is a diameter of the circle with centre o
and ¢ is a point on the circle.

@ Name the angle in the diagram which measures 90°.

(i) Write down the measure of Zaoc, given 30

that| zobc|=30°. b

(ili)} Copy the diagram and draw the image of
triangle abc under the central symmetry in o.

(iv) On the diagram which you have drawn, shade two equilateral triangles.

(v) Given that the radius of the circle is 4 cm, show that| be| = 48 cm.

(vi) Calculate the area of the triangle' abc, correct to one place of decimals.




5. The point a(2, 4) is shown in the diagram,

@@ Copy the diagram and on it plot the point
b(1,-2).

(ii) Find the midpoint of [ab].
(iii) Find the slope of ab.
(iv) Find the equation of ab.

(v) Use your equation to find the coordinates of the
point at which the line ab intersects the y axis.

(vi) Ifthe line ab contains the point (£, 10), find the

value of £.
FORMULAE:
Midpoint of (x,,yl) and (x2 ,yz) is (x, ;xz ,y' ;yzj )
Slope formula: m= iz—:-%
Equation of line: y=y,=m(x—~x) or y=mx+c.
6. (a) Use the book of Tables to find

@) cos 40°

(ii) cos 47° 56°.

(b) In the triangle pgr, | Zprg|=90°,
|pq| =100 m and | qu =67 m.

Find the measure of

@ Zpgr
(ii) Lqpr.

(¢) [ad]is a vertical mast standing on level ground.
Wires join a to the ground at b and at ¢ as in the
diagram.

Given that | ab| =20m, | dc|=40m and
| zabd| = 60°, calculate

0) [ ad|
(ii) the measure of Zacd.

y axis

a(2:4)

o
Al

X axis

l 1
I 1
-2 -l

VI

100 m

67 m

20m

v

40 m



